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IGCSE — Matrices Paper 2 - 1

May 02 Paper 2. 9
A=| 23 _ {4 3x _ {10 —15
=08 6 ()
(a) A+2B=C.
(i)Y Write down an equation in x. ARSWEF (A)(I} . oreveereerirenreneee e en s [1]
(i) Find the valne of x,
Answer (a1} X = e (13
(b) Explain why C does not have an inverse.
ARSWEE (B) oot e s st sesss e e e s et et e teee e ee e oo {13
(¢} Find A~} the inverse of A.
Answer (¢} [2]

Oct 02 Paper 2
o)

(a) Find the 2 x 2 matrix P, such that A +P = (g g),

Answer (a) P= ( ) 2]

() Find the 2 X 2 matrix Q, such that AQ = ((1] ‘1))

Answer (b) Q= ( ) [3]




